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1 Introduction

This document shows plots of differences in the HYDE population data, more specifi-
callyinthe HYDE version v3.2.1 and v3.3. Each plots shows the difference v3.3-v.3.2.1,
i.e. positive values mean an increase from v3.2.1. to v3.3. The maps feature the orig-
inal HYDE resolution 1—12 x 11—2 The numbers that follow the plot give a few more
details/statistics about the plotted data.

Other arguments

« HYDE v3.2.1 compatible with ...

+ the GDP data by Muarakami (2021) gives HYDE 3.1 papers as their reference
Explanation of notation

« population at point x is p,, HYDE versions are indicated as a superscript

« the difference between versions at point x isA, = p,(CV3'3) — 1{),<CV3’2>
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